
Class: 5

Subject: Mathematics

Chapter: Place Value

(Answer Key)

A.

1. 39480

2. 111765

3. 40282

B.

1. 2729

2. 166125

3. 9915521 - (6405 + 858) = 9915521 - 7263 = 9908258

C.

1. 6518 - 2745 = 3773 Checking 3773 + 2745 = 6518

2. 203291 - 153852 = 49439 Checking 49439 + 153852 = 203291

3. 991352 - 11352 = 980000 Checking 980000 + 11352 = 991352

D. 47526 + 9999 = 57525

E. 10000 + 99999 = 109999

F.

1. 4527 x 8 = 36216

2. 3247 x 36 = 116892

3. 752 x 308 = 231616

4. 5378 x 690 = 3710820



G.

x 23 56 112 224 448 896

5 115 280 560 1120 2240 4480

20 460 1120 2240 4480 8960 17920

30 690 1680 3360 6720 13440 26880

H.

1. 825 ÷ 3 = Ans Q = 275, R = 0

2. 77218 ÷ 35 = Ans Q = 2206, R = 8

3. 51326 ÷ 245 = Ans Q = 209, R = 121

I.

1. 10 + 8 ÷ 4 - 2 x 6

Divide 8 ÷ 4 = 2

Multiply 2 x 6 = 12

10 + 2 - 12 = 0 Ans

2. 30 - 14 ÷ 7 x 5

Divide 14 ÷ 7 = 2

Multiply 2 x 5 = 10

30 - 10 = 20 Ans

3. 8 + 12 - 6 x 2

Add 8 + 12 = 20

Multiply 6 x 2 = 12

Subtract 20 - 12 = 8 Ans



4. 75 x 0 - 0 ÷ 75

Multiply 75 x 0 = 0

Divide 0 ÷ 75 = 0

0 - 0 = 0 Ans

J.

1. 19457 - 7654 = 11803

Ans. Therefore 11803 needs to be added to 7654 to get 19457

2. 12 eggs x 235 trays x 40 cartons = 112800

Ans. Total number of eggs are 112800.

3. Quotient 270 x Divisor 32 = Dividend 8640 Ans

*****


